REVISION MARKING GUIDELINE 2025

QUESTION 1/VRAAG 1

111 | 2 -3x-10=0 v factors
(.r+2Xx—5)=U Vx=-2
x=-2 or x=35 Vx=S3
3)
112 [ 3x® +6x+1=0
> v'correct substitution into
:_(6)i (6) _4(3X1J the formula
182 2(3)— 0,18 Y x=-152
r=—L0s or X =-0, v x=-018
3)
1.1.3 | 2** 42" =8704
2°(16+1)=8704 v'common factor
2" =512=2° OrR Y¥=log,512 v simplification
x=9 =9 v’ answer
3)
.14 | (x-8)x+2)<0 v critical values
CV:x=8 or x=-2 Vv _2<y<8
S—2<x <8
3)

x+3Jx+2=2
3Wx+2=2-x
‘El(x+}l)=4-—4-_7(+x2
x’—13x-14=0
(x—14)Yx+1)=0
x#14 or x=-1

v'isolating the surd
v'squaring both sides

v'standard form

v'answer with selection

(4)




12 | (y-3)(x+2)=32 veql
yx+2y-3x-6=32 ..(1)
2(y-3)+2(x+2)=24
y+x-1=12
y=13-x () vieq2
(l3*x)x+2(l3—‘x)-‘3x‘-6:32 /substimtion
13x—x*+26-2x-3x-6-32=0
-x*+8x-12=0
x?-8x+12=0 v'standard form
(x=6)(x-2)=0
xi??’ 0; w=2 _13-2 v'x-values
i v'y-values
y= 7 y= 11 (6)
OR/OF OR/OF
(y-3)(x+2)=32
¥x+2y-3x-6=32 ..(1) veql
2(y-3)+2(x+2)=24
y+x-1=12
X=l3—y (2) ‘/qu
y(13-y)+2y-3(13-y)-6=32
13y-y*+2y-39+3y-6-32=0 v'substitution
-y +18y-177=0
y' -18y+77=0
r-7y-11)=0 v'standard form
y=T7 or y=11 7
x=13-7 or x=13-11 yevaliieg
S ey v'x-values (6)
13 (1+xm +I—n)2 _(l_xm _x_"):
:[l+x'“ +x™ —(l—x"' =X ")J[]+x’"+x " +(1—.r‘"—x "):I v’ difference of squares
SO+ 20) o
.. divisible by 2 for all integer values of m and n simplification
OR/OF v’ answer
(I+x" +x7") =14+ x" +x7" +x" + X" +x" " +x " +x"" +x7" (3)
=14 2x" + 2x7" 4+ 2x" " 4 27" 4 x 7"
(1-x"—x") =1-2x" - 2x7" + 2x" " + x™" +x7 OR/OF
A+x"+x7")Y —(1-x"—x") =4x" +4x™" v" expansion
=4(x"+x") L, )
3 . . expansion
=(2)(2x" +2x7") o oxpans 3

.. divisible by 2 for all integer values of m and n




QUESTION 2/VRAAG 2

2.1.1 T+12+17+ ...
T =a+(n-1)d V=5
T, =7+(91-1)5) + substitution into correct
T =457 ) formula
m =5 ¥ answer 3
OR/OF OR/OF
d==5 vid=5
T =in+2
a =98t ¥ substitution = 91
T, =5(01)+2
T, =457 ¥ ANSWer (2
1 ,
2.1.2 5. =3 [2a+(n-1)d]
01 ) ¥ substitution into correct
Sy =" [2x7+(@1-1)5]] formula
2 ¥ ANSWEr (2]
S, =21112 '
OR/OF OR/OF
5 = ’E’[a+ 1)
a1, ¥ substitution into correct
5y = ?” +457) formula
5, =21112 ¥ AnSWer (2)
i
2.1.3 T, =T7+[n—1)5) ¥ substitution into correct
Sn+2="517 formula
an=1515 ¥ pquate
=103 ¥ AnSWer (3
22.1 21

T=3.5,-5,=9 ad -1, =

12 12 12

ST =3+9+21+33+45 =111

OR/OF

2a=12

a==6

36 +b=19

b=-9

6—9+r=3

=65 —95)+6=111

¥ constant second diff = 12
¥ first differences : 33 and
45
(Z)
OR/OF

¥ constant second diff = 12

¥ substitute 5 i2)




2.2.2 2a=12 v 2a=12
a=6
AE)+h=9  or Sxf+h=21 ¥ 36+ h=9/0=6+0=21
bh=-9
6—9+c=3 v B—9+c=3 (3)
c=6
T, =6n"—09n+6
2.2.3 T, =12n-9>0 v T =12n-9
3 3
= ¥
4

. T, is increasing for ne W

OR/OF
b -a
= = -
2a 2(6)

sominat n=1for ne N
. T, is increasing for ne W

¥ increasing for ne N

(3)
OR/OF
=D _ 9
2a 2(&)
v on=—
4

¥ increasing for ne N
(3]

[16]




QUESTION 3/VRAAG 3

3.1.1 T =ar
T, =32 v T,=3(2)" (1)
3.1.2 ' g
3 -.2¢ =98 301
.v'lz
K 3 P
T2 =34+6+12+..
=i ¥ expansion
n=k
' v o=k
32y -1 =98 301 oo
21 ¥ substitution into correct
(2) =32 768 formula
2t =2" OR/OF  k=Ilog, 32 768
k=15 vk=15 (4
3.2 22

5, = ?[za +21(3)]
S,, =22a+693

223—693=%+T34

44a+ 1386 = Ja+ 1468
41a=82
a=2

¥ substitution into 5,
v 5, =22a+693

¥ substitution into S,

¥ 5, =5.+734

¥ ANSWer (3]

110]




QUESTION 3 VRAAG 5

5.1 i1:8) V=1V y=8 (2)
5.2 1 ]
y=——(0-1)"+8 va=0
2
'z ¥ answer (2)
qoff
LY 2
5.3 _d
B=1 substitution (1:8) (1)
Cod=8
5.4 yeR, yz0 v ¥y#0 (1)
3. ~3E x<l or x25 ¥V —3 k<l
ORJOF v x25 8
xel-3: 0)w]5:=) ’
8 [
o6 —2xt+thk=— v —Fyr k=—
X X
-2x +kx—8=0 ¥ standard form
A= (K" —-4-2)-8) ¥ substitution into A
K —-64<0 v ASDor A=0

CV:ik=8; k=-8

L-B<k<B orfof ke(-B:8)

OR/OF
gl =4(x)

L.
X

—-B=-25

¥x=I2

¥y=x4 S B2 4)and A-2: —4)
For tangents:

Myl =—2x+k or MMy=—2x+k
4=-2(2)+k —4=-2[-2)+k
k=8 k=-8

c-B<k<B ool ke(-B:8)

¥ inequality
(3}

¥ y-values
v pvalues

¥ inequality
(3)




5.7

M) =-2x+8

—21+R=E
X

—2x +Bx=8
—2x +Bx-8B=0
¥ —dx+4=0
(x—21" =0
Cox=2

15
fzy=-2
(2) 5

hz) =4

4= 1:'+:
2

OR/OF

15

2

Tangent point of contact (2 ; 4)

f(2) =

1 .
S A=——(2-1)" +8+¢
E{ ]

13
4=—+t

y=
R{2:4)

1
p=——(x—1)"+8+1
T2

1 .
4=——(2-1)" +8+1

i=——

2

v x=2
v F2)

v h(2)

¥ answer

OR/OF
v ox=2
v F2)

v h(2)

» answer

OR/OF

v 1)
¥ 2}

¥ Answer

(4)

(4)

14)




QUESTION/ VRAAG 5

5.1 —2x +4x+16=10
¥ —Zx-8=0 ¥ factors
(x—4)[x+2)=0
¥=4 or x=—2 Vx=—2 v x=4
SA-Z:0) and Bi4:0) (3
5.2 Fla) =—2x" +4x+ 16
b -4
- = — =1 ./’l
2a  —2(2)
)y =-2(1)° +4() +16 =18
SCMLLR) ¥ 18 (2]
OR/OF OR/OF
f8)=—2x" +4x+16
M =—4x+4
—4x+4=0
x¥=1 ¥ ]
Fly=-2(1)* +4{) +16 =18 v 18
S C0L18) (2)
5.3 ¥= 18 vV y< 18
(L)
ORMOF OR/OF
ye (- 18] v ye(—=;18]
(1)
54 TP (1 : 18) for £
TP (2 : 15) for & ¥ TP for fat (2 15)
. v pe=l
sop=-—1 g=-3 |
/{I'r=—3
(3
5.5 y=2x+4
x=2y+4 ¥ swop xand y
1 ¥ -'=l -2
.'._}r=Ex—2 ¥ E_r
(2]
2.6 gl¥)=00r g (¥=0 ,
x¥x=4 or x=—2 (product 0 at xintercepts) x=4
v ox=—2

12




a7 —2¢ +dx+16+k=2x+4 v equating
—a b2+ 124+ k=0 v standard form
b —dac<0 v b —dac<0
. ‘/' ¥ ¥
(2)* —4(-2) {12+ k) < 0 substitution
4+812+ &) <0
100+8k <0
k<-125 ¥ answer
3]
OR/OF
OR/OF
g lx)=2 v o'y =2
Flifd=—dx+4=2 Vo () =—dxtd
1
K==
2
1 AT
i =175 v d_EJ_I?.a
i I _ iy -l'. -
éa'iE = S|_ zJ 4
Sk=—-125 ¥ answer (5]
118]
QUESTION/VRAAG 6
6.1.1 y=3°
'x= g ¥ swaop xand y
y=log, x ¥ equation
(2]
6.1.2 Mx=3""+2
Transformation: 4 units left, 2 units down y 2 (A)
P (2.9 x=2
(2:9) v y=9(A)
2
6.2 f)=2""+q
g=-16 v g=-16
_ i
';: :2 16 ¥ substitute (3 : 16)
2,-,-..:32.. : v 27 L2 or p+3=log, 32
Sop+3=
p=2 v p=2

[4]

18]




OQUESTION/VRAAG 4

4.1 Mﬂ '.4} ¥ 1 —value
¥ y- value (2
4.2
fx)= i;+4
X -
4 8 vx=0
y=——3%4d=—
0-3 k)
.'.D[D;EJ ¥ pvalue
3 (2)
4.3 Mi3:4)
y=x+1 ORAOF y=(x+p)+qg o
‘( a
4=341 p=x-3+4 substituting M(3 ; 4)
= r=x+l
=1 ¥ yalue of (2
4.4 4
r-l--":ﬂ ‘.r},= ]
~4x-3)=4
r=3=-]
x=2 vi=2
Ci2;m
2<x<3 ¥ answer (4]
4.5 4 4=x41 ¥ equating
x=3
4
——m -3
x=3
4=(x=3)
tl=x-3
x=5 or x=#l ”
A(5:6) VA
(3)
ORAOF OROF
Point ¢losest to the origin in }’=E is (Ja:a)
x
By translation:
h[\l'ra+3',\l'ra +4) ¥ translation
A5 ; 6) VA (3)
4.6 —4 4
hix)=——+4=
*) +3 -x=3
. Reflection in y — axis. y )
A'(~5:6) coordinate
AA =10 ¥ distance (2]
115]




QUESTION/ VRAAG 8

8.1 Fix) =34°
£ =lim Tlx+h)— My
=0 .Il.i'
£ () = lim ST =3¢ ¥ substitution
50 h
4 2 Fd
£(3) =lim 3x° +6xh+ 30 —3x ¥ expanslon
Il B
gy B+ 3
= B ¥ simplification
- lim MGx+3h) < lim hix+3H)
1 h Ll Ir
= ﬁ_‘i’ v ﬁx
(3)
B.2.1 X =5 —3+9x7 ¥ Oy
(%) = 2x— 1827 Ve
¥ —1Bx

(3)




QUESTION/VRAAG 4

4.1 M2 4) ¥ ¥ —value
¥y vilue (23
- ,r'l:l=:l+4
4 ] =1
y=——+d=—
-3 3
1] {I;E\l ¥evilue
3) (1
4.3 Mi3;d)
y=x+i ORADF y=ix+pltq , o .
4=341 y=x-3+4 substituting M(3 . 4)
J= }-=;+|
nr=1 ¥ value of f 2}
4.4 4
a0 N
x-3 Yy=0
—dix=31=4
r-3=-1
T=2 r=1
Ci1:m
e - Pl + ¥ angwer {{'
A3 A 4=z ¥ equating
x=3
4
P
d=(x-3
tlmx=-3
x=5 or xwl
Ad(S;6) YA
(3
ORAOF ORAGF
Peint closest 1o the omgin in }._E 15 [«.I';HE}
x
By translation:
Alva+ 3ifa+4) iranslation
ALS ; 6) A i3
46 —4 4
=——— = 4
M) z+3-+ —x—]+
v Refllection in v — axis, )
Al(=5.8) ¥ coordinale
AA =10 ¥ distance 2)
[15]




822 | g(y=(x+3Wx-1)
1
1
glx)l=x+2x* -3 vaovee
I3 _I _I
g ld=1+x" ¥l vyt
(4)
112]
QUESTION, VRAAG S
9.1 F{x) =6x" +6x—12 ¥ 6 +6x-12
6x° +6x—12=0 V=0
X +x=2=0 .
(x+ B(x—1 =0 ¥ factors
x=2—n.2 o x= . ¥ x -values
¥= of  ¥=—1T ¥ vovalues
- A(-2; 20) and B{1 ; -7) '
(3]
9.2 Y0 =12x+6 Y 12x+6
12x+630 V>0
12x>—6
1
X=—— !
o —
2 e
OR/OF o
P { OR/OF
x= =——
2 2 v oy=——
1
K —— 1
z Vo e ——
2
3
93 | r(g=24 v @
Equation of the tangent: y—4=24{x— 2) v 24
y=24x— 44 ¥ poquation
(@
111]




QUESTION 7/VRAAGT

7.1 \ fx+h|l-r
f '(x)=lim Lx+h)- flx)
I i
3 -]
£ x)=lim —dlxth) - [-_ 4x ]I ¥ substitution into correct
i f formuila
K4 4 ]
f"1.-¥}=llm_4x —Baxfi—4h +4x vrr[x+}r}=_4xg_3ﬂ?_4}f
) i
Z
£ '{x)=1lim _Smj_ ih + simplification
Il i
£ '{x)=1im H_S:_ 4h) + common factor
il 1
£ '(x)=lim(-Bx—ah)
Figy!]
£ (x)=—8x ¥ answer (3)
OR/OF OR/OF
flx+ B =—4{x+ H)* =—45" —Baxh— 4K ¥ Flaeh) = — 45 —Bah— 447
Fla+ ) — £l8) =—4x" —8Bxh— 4" — (—4x")
—_ - 2
i - fff‘ rf‘a‘ ¥ simplification
£ (x)=lim —2T 21— T4
i 1
£ )= i — B —40° ¥ substitution into correct
= i formula
cr o H—Bx—4h)
1 {x)= tim B ¥ comimon factor
£ (x)=lim(-Bx—4h)
Figy!]
£ (x)=—8x ¥ answer (5
7.2.1 filx) =25 =3x ¥ X’
F=6x—-3 V-3 (2)
7.2.2 D, I.T-i'"? 2 J
£ N z
D‘T|:'i’.x"‘ +Ex_":| ¥
14 - - ¥ derivative with rational exp
=3 ¥ ~l0x ¥ =105~ (3)
73 —6x +8=0
i 8
6 2
. 2 2 YOV y=1t—
CV's y=—— or x=—
\-'E Va3 Jg
Positive for < — i,_ < X< i,_ ¥ ¥ answer (3)
A3 A3
[13]




QUESTION B VRAAG B
Bl Flia) = =32 +125-9 -
L
—Ar + 12— =] F'x) = —3x" +12x-8
i f-. | -
2 —dx+ 3=l fin =0
(x—Hix—01) =D
s =T or xel ¥ hoth xvalues
FI3) = — (3 + 63 -3 = 4=
FIl m— {7 =60 =90} +4 =1 ¥ hoth yvalues
s lurning poinis ares (3 4) amd (120 1)
B.2 ¥
‘I
\ .
\ i3 4) ¥ winbercept
4\ —
P et
f___.--"f \1'.. ¥ hoth xintercepts
T ; =~ ."'_lllld ¥ hoth turning paints
|II ¥ shape
1]
E.3 e ko d orfof kel 4] + vk hebween wvalupes
af tuming podinds  [2)
B4 Fo e —fGr=12 =i VO a) m—Bx+ 12
x=2 ¥ 3 -
befac at {2 ; 2
axar(2: 2y ¥ pvalue
¥ pvalue
ol e * gradient at rvalue
Ly-Zmlx-Z] or 22+ o
gla) =3x—4 giH =3r—4 ¥ eguation af angent
16
VRO ORI OF
Paint of inflecton: x = 3+ o 3+1
7
T=i ¥ rvalue
Mefa at (2 ; 2) ¥ pvalue
2] =3 ¥ gradient at rvalue
y=2mlx-2] or PR+ _ )
gla)=3x—4 aix) =3r—1a * euation of angent (6]
E.5 bind =3 ¥ gradient of g
- e + arpwaer 12
[18]




